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8" IMPERIAL - USC (Lengths, Diameters = in.)
8"7-82.5 STAGE HRSERIES 2 | 16.3 | 274 | 324 | 403 | 504 | 601 | 813 | 747 | 814 [ 1029[101.7]347.7 | 35693944 | 7.8 | 80 | 63 | 80 | 88 [ 80 | 80 [ 84 | 80 [ 84 | 80 [ 34 | 58 |48 |48 | 48 | 80 | 83 | 80
8" METRIC - SI (Lengths = m) (Diameters = mm)
8'7-82.5 STAGEHRSERIES2 | 041 | 07 | 082 [1.02 [ 128 [1.53 [ 207 [ 1.9 [ 207 [ 261 [ 2558 | 883 | 2.06 | 10.02]196.85] 203.2 [158.75] 2032 [222.25] 203.2 | 2032 [212.85]203.2 [212.85| 203.2 | 85.85 |147.57|120.65[12065|120.65|203.2 [209.55 | 203.2
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